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a) Determine whether the dilation o 3| S A DEF
from A ABC to A DEF Is an sl Jalas 3yl
enlargement or a reduction. Then
ﬂnd lh. m m d m. d“'ﬂon‘ ...........................
b) If A MNP has vertices M(1, 1), w4 A MNP s B (b
N(0,-5),and P(~2, 3). Find the N(0,-5) ‘M(1,1)
coordinates of the vertices of A M/N'P' otk Siila] &l P(=2,3)y
after a dilation of A MNP by a scale A MNP 34 3 AM'N'P!
factor of 3. 3 Al Jdl.q
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Determine whether the measures
6,4 and 7 can be the measures
of the sides of a triangle. If so,
classify the triangle as acute,
obtuse, or right. Justify your
answer.
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